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Fit error for different fits
For no_lep control sample exponential fit

The fit is 13.48% +- 0.01%

For no_lep control sample polynomial fit

The fit is 13.49% +- 0.1%

For dijet control sample fit

The fit is 13.22%+-1%

Also when check the no_lep control sample 

I checked both W/O MET requirement

They are 13.489% to 13.484%
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VBF sample
Extremely low efficiency due to the Boost of H

Only less than 10 events can pass our selection

For the ggH sample the H is in rest frame

But for VBF sample, we have some boost on H, 

That make all the objects close together and fail the iso/overlap cut
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Back up
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Information from
the four events
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Look again into the hadhad
channel?
This was done by Xiaohu before with an MVA study

Could be useful to improve the significance because of the high statistic
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